STATE OF TEXAS §

\$
COUNTY OF FORT BEND §

AMENDMENT TO ADDENDUM TO CONFERENCE TECHNOLOGIES INC.'S AGREEMENT

THIS AMENDMENT, ("Amendment"), is made and entered into by and between Fort Bend County (hereinafter "County"), a body corporate and politic under the laws of the State of Texas, and Conference Technologies, Inc., (hereinafter "Conference Technologies"), a company authorized to conduct business in the State of Texas (hereinafter collectively referred to as the "parties").

WHEREAS, the parties executed and accepted that certain *Addendum to Conference Technologies, Inc.'s Agreement* on or about August 28, 2023, (hereinafter "Agreement") which are incorporated by reference as if set forth herein verbatim; and

WHEREAS, the parties desire to increase the total Maximum Compensation under the Agreement and add additional services to be provided thereunder; and

WHEREAS, County desires that Conference Technologies provide additional Services as further described in the attached Exhibit A (hereinafter "Services") pursuant to The Interlocal Purchasing System ("TIPS") RFP 200904; and

WHEREAS, the following changes are incorporated as if a part of the Agreement.

NOW, THEREFORE, the parties do mutually agree as follows:

- 1. County shall pay Conference Technologies an additional Thirty Two Thousand Eight Hundred Twenty Seven and 54/100 dollars (\$32,827.54) to provide Services under the terms and conditions of the Agreement and accordance with the Change Order dated December 21, 2023, attached as Exhibit A.
- 2. The Maximum Compensation payable to Conference Technologies for Services rendered is hereby increased to an amount not to exceed Sixty One Thousand Six Hundred Fifty Seven and 54/100 dollars (\$61,657.54) authorized as follows:

\$28,830.00	under the Agreement
-------------	---------------------

\$32,827.54	under this Amendment
TOTAL	\$61,657.54

- 3. In no case shall the amount paid by County for all Services under the Agreement and this Amendment exceed the Maximum Compensation without written agreement executed by both parties.
- 4. The Parties agree that the fees for all services shall be in accordance with TIPS RFP 200904 and that to the extent that County has issued payment that exceeds those rates, the payment received will be adjusted by way of credit against future invoices during the term of the Agreement.

Except as provided herein, all terms and conditions of the Agreement shall remain unchanged.

FORT BEND COUNTY	CONFERENCE TECHNOLOGIES, INC.		
KP George, County Judge	Victoria Ferrari Authorized Agent – Signature		
2.27.2024 Date	Victoria Ferrari Authorized Agent – Printed Name		
ATTEST:	Senior Design Consultant Title		
Hama Richard	2/7/2024		
Laura Richard, County Clerk	Date		

AUDITOR'S CERTIFICATE

I hereby certify that funds are available in the amount of \$61,657.54 to accomplish and pay the obligation of Fort Bend County under this contract.

Robert Ed Sturdivant, County Auditor

 $i:\agreements\2024\ agreements\purchasing\facilities\conference\ technologies,\ inc.\ (23-fac-101015-a1)\amendment.cti\ addendum\ (kcj\ -\ 1.31.2024)$

Exhibit A

Exhibit E:

Engagement Letter dated August 16, 2021 (CFR Audit Project)



CHANGE ORDER

Fort Bend County

Medical Examiners Training Room TIPS Contract #200904

DATE

Thursday, December 21, 2023

PREPARED BY

Victoria Ferrari

Design Consultant



Change Order

Client Requested Changes

Proposal Number: J23180125

CO Number: ECO-02

Proposal Date: 12/21/2023

Prepared for: Fort Bend County

Attn: Lee Powell

Phone: (346) 481-6155

Email:

lee.powell@fortbendcountytx.gov

Prepared by: Victoria Ferrari

Phone:

Email: Victoria.Ferrari@cti.com

Scope of Work

Description of Change



Totals

Description	Price
Equipment Total	\$18,579.08
Implementation Services Total	\$13,962.58
Freight	\$285.88
Subtotal	\$32,827.54
Tax	\$0.00
Total	\$32,827.54



Bill of Materials

Added Items

Description	Qty	Unit Price	Ext. Price
Video Systems Equipment: \$11,146.14			
Power Supply for NV-32	1	\$0.00	\$0.00
HD Pro P/50 - 50' (15.2 m)	1	\$323.53	\$323.53
12x Optical Zoom 80° Horizontal Field of View, PTZ Network Camera, PoE, with HDMI and SDI output. Includes PTZ-WMB1 wall mount bracket	1	\$0.00	\$0.00
Pearl Nano	1	\$1,881.41	\$1,881.41
ACCESSORY,,POWER SUPPLY, NV-21-HU, NA	5	\$200.00	\$1,000.00
VIDEO,NV-21-HU,SMB	5	\$1,588.24	\$7,941.20
Audio Systems Equipment: \$9,095.12			
Rack adapter for RACK-UP series	1	\$67.98	\$67.98
Audio Distribution Amplifier - Balanced/Unbalanced - 2x4, 1x8	1	\$314.02	\$314.02
Five-way active antenna splitter and power distribution system for QLX-D®, ULX®, ULX-D®, SLX®, and BLX® (BLX4R only) receivers. (470-952 MHz)	1	\$480.59	\$480.59
24 Vdc Switching Power Supply, North American AC Plug, 500 mA, dc Plug	1	\$28.26	\$28.26
Cardioid-18" Desktop Gooseneck Condenser Microphone, Attached 10´ XLR Cable, Logic Functions, Programmable Switch and LED Indicator, Attached Desktop Base	1	\$267.12	\$267.12
LOUDSPEAKER,AC-C6T,6" CEILING,W/XFMR & BACKCAN	8	\$110.82	\$886.56
AMPLIFIER,SPA-QF60X4-NA,100-240V,4CH,60W	1	\$1,176.47	\$1,176.47
Handheld Transmitter with SM58® Microphone	4	\$378.88	\$1,515.52
LOUDSPEAKER,AC-S6T-WH,6",SURFACE MOUNT	2	\$122.82	\$245.64



		1		
Half-Rack, Single Channel Receiver	4	\$608.00	\$2,432.00	
Bodypack Transmitter	4	\$319.65	\$1,278.60	
Microflex Cardioid Lavalier Microphone	4	\$100.59	\$402.36	
Control Systems Equipment: \$4,208.29				
Wall Mount MX for iPad 10th Generation - Black Grey - H755-BG	1	\$175.29	\$175.29	
Ethernet and PoE+ Power USB-C Adapter for MX Wall Mount	1	\$0.00	\$0.00	
M4250 26G4F POE PLUS PLUS MN S	1	\$2,221.24	\$2,221.24	
4-Series Control System	1	\$1,811.76	\$1,811.76	
Rack Accessories and Furniture: \$1,112.55	•			
15A Power Conditioner and Distribution Unit with IEC Power Cord			\$107.44	
Vented All-Purpose Rack Shelf 1RU	2	\$33.35	\$66.70	
25 inch Deep, 21RU Mobile Equipment Rack Includes: Casters, Side Handles, and Solid Doors	1	\$776.05	\$776.05	
Storage Drawer - Recessed 3RU w/ 14 inch Extension	1	\$162.36	\$162.36	
Installation Materials: \$329.18				
Custom Wallplate for Podium HDMI and Microphone Inputs	1	\$69.33	\$69.33	
Custom Wallplate for Eight Press Audio Feeds	1	\$182.73	\$182.73	
Wallplate for Wireless Microphone Antenna	2	\$38.56	\$77.12	

Total Adds: \$25,891.28

Canceled/Returned Items

Description	Qty	Unit Price	Ext. Price
Video Systems Equipment: (\$4,176.54)			



4K60 4:4:4 Network Video Endpoint for the Q-SYS Ecosystem, software configurable as Encoder or Decoder. 3 HDMI 2.0 Inputs, 2 HDMI 2.0 Outputs, on-board AV Bridging. Supports optional stand-alone "Q-SYS Core Mode" operation for audio DSP with local video switching and AV Bridging	-1	\$2,941.18	(\$2,941.18)	
PoE+ 8x1G PoE+ 125W 2x1G and 2xSFP Managed Switch (GSM4212P)	-1	\$738.89	(\$738.89)	
Systems 1/2 RU 2 Channel ENERGY STAR amplifier/ Stereo Operation 60 watts into 80hm & 40hm, Bridged operation 200 watts into 80hm & 40hm, and 250 watts into 70V and 100V/100-240 VAC Operation	-1	\$496.47	(\$496.47)	
Audio Systems Equipment: (\$2,035.99)				
4" Ceiling Mounted Loudspeaker, 70/100 with 8ohm bypass, includes Mounting Hardware. Sold individually, ships in pairs.	-8	\$82.94	(\$663.52)	
Bodypack and Vocal Combo System with WL185 and SM58®	-1	\$1,372.47	(\$1,372.47)	
Control Systems Equipment: (\$1,066.02)				
Crestron Virtual Control Server Software - Single-Room License	-1	\$588.24	(\$588.24)	
IPAD 10th Gen	-1	\$477.78	(\$477.78)	
Cloud 9, MX1616-AUHD-GEN2, CX84, MX-88HDBT, AXION-8	-1	\$0.00	\$0.00	
Installation Materials: (\$33.65)				
White HDMI Wall Plate	-1	\$33.65	(\$33.65)	
	•			

Total Credits: (\$7,312.20)



Change Order Acceptance

Notice of Acceptance

I hereby agree to the listed changes to the original scope of work. Original contract terms and conditions remain in effect. Shipping and handling fee are estimated and will be billed as an actual charge. State and local taxes will be incurred as applicable.

Please return this signed and dated acceptance to Victoria Ferrari for change order work to commence. Form can be emailed to Victoria.Ferrari@cti.com or faxed to (855) 329-2844. Thank you.

Bill to

Fort Bend County 301 Jackson Street Richmond, 77469

Ship to

Fort Bend County 301 Jackson Street Richmond, 77469

Total

J23180125 - \$32,827.54

Agreed and Accepted by:

Customer Signature	CTI Signature
Printed Name	Printed Name
Title	Title
	Date

CERTIFICATE OF INTERESTED PARTIES

FORM **1295**

1 of 1

					1011		
	Complete Nos. 1 - 4 and 6 if there are interested parties. Complete Nos. 1, 2, 3, 5, and 6 if there are no interested parties.		CFI	OFFICE USE			
1	Name of business entity filing form, and the city, state and country of the business entity's place of business.			Certificate Number:			
			2024	4-1121025			
		ference Technologies, Inc. ston, TX United States e of governmental entity or state agency that is a party to the contract for which the form is					
2							
_	being filed.	e contract for which the form is	02/07/2024 Date Acknowledged: 02/27/2024				
	Fort Bend County						
3	Provide the identification number used by the governmental enti description of the services, goods, or other property to be provided in the services of the services.		the c				
	24280						
	Medical Examiners Training Room						
4				Nature of			
_	Name of Interested Party	City, State, Country (place of busin	iess)	(check ap			
				Controlling	Intermediary		
	•						
	-						
	-						
				1			
5	Check only if there is NO Interested Party.						
6	UNSWORN DECLARATION						
	My name is	, and my date of	birth is	S	·		
	My address is(street)	(city) (si	state)	(zip code)	(country)		
	I declare under penalty of perjury that the foregoing is true and correc	at.					
	Executed inCounty	y, State of, on the					
				(month)	(year)		
		Oliverture of all the last of		and the section of th			
l		Signature of authorized agent of con (Declarant)	ıtractin	g business entity			